
A

1

1

1

1

1

1

3

3
3

3

3

3

3

3

3

3

3

3

4

4

4

4

4

4

44

4

4

44

2

2

2

2

UNIT : mm
Detail view A
proportion 1 : 5

5

6

Product name
BMW M3 / M4
downpie-back

Accessories and 
Assembling  Drawing Model F80 / F82

NO. Item Spec. & Size. Q' TY. Remark

1 Round gasket  EG - 12 - 63.5 6

2 Clamping bush KAA070 67 - 71 (M10xP1.25x35L bolts/Nut) 4

3 Hexagon bolts M10 x P1.25 x 20L 12

4 Hexagon Nut M10 x P1.25 12

5 Hexagon bolts M5 x P1.0 x 20L 6

6 Hexagon Nut M5 x P1.0 6

Product No.

A319                A320               A321    
A322                A323               AP507              

Accessories check


	圖頁1
	工程視圖1
	細部放大圖 A (1 : 5)


